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78 Stockton 11 v R N/ER 9 Keal/h
11.0 Kw
=ABEH/ B 2.63 Kcal/s

Av . R b—T7REREER
Av (flm) = 385 x 516 = 198,660 mm’
Av (EE/®ME) = 723 x 516 = 373,068 mm’

Ah : R bM—T7XKFIZEHERE

Ah = (79197  TE=b =N EEDH-RREITE) X (RXHEIE)
Ah = 403 X 723 = 291,369 mm?

Ls : A b—7F0 kKT 2EEE

Ls (Bm) = 24 x v Av(fEmE) = 1070 mm
Ls (IEEm) = 24 X VAVGEHE/SH) = 1466 mm
Ls (F@m) = 159 x VAVEE/EM@) = 971 mm
Ls (ASRE@E) = X V- Av(fEE) = 0 mm

Hs : R b —7Ha YRS EERM

1000000 )
Hs = 0.00106 1+ Ah = 1141 mm
Ah + 80000

Ds : A b—7EFrVREEEIERE
Ds = REZS TS,

FEE . 15480kcal/s LT DA+—T



